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РАЗБОР ЗАДАНИЙ



Listening

Максимальное количество 

баллов – 15.  

Каждый правильный ответ

оценивается в 1 балл. За

неверный ответ или

отсутствие ответа

выставляется 0 баллов.



Task 1. Items 1-10

1. More than half of the British people believe
that the probability of tossing a coin twice and
getting two heads is 25%.

Correct answer - B  - False   -

A recent survey found that 60% of Britons believe
the probability of tossing a coin twice and getting
two heads is 50%, rather than the correct answer
of 25%.



Task 1. Items 1-10

2. Tom Hunter believes that we don’t make use of
statistics and probabilities in our daily life.

Correct answer - B  - False -

Oh my! Well, that’s a common belief, but gosh! I
mean, we’re surrounded by statistics: opinion
polls, crime figures, product claims in
advertising…



Task 1. Items 1-10

3. Good statistics are associated with companies’
profits, while bad statistics are associated with
companies’ losses.

Correct answer - B  - False -

Well, we need to recognize that different
approaches to data collection have different
degrees of validity. And we need to look for
underlying problems with any research we
encounter.



Task 1. Items 1-10

4. Researchers may be forced to find positive
results because they are afraid to lose their jobs.

Correct answer - A  - True   -

Well, say a food company is having some research
done to see if its product has health benefits,
right? It has a vested interest in the process, so
researchers may get pressured into finding
positive results. They may worry about not being
employed again, which may affect their
conclusions.



Task 1. Items 1-10

5. The results are more valid if you ask 50 people
on social media than choose 5000 respondents
randomly.

Correct answer - B  - False   -

Similarly, asking 50 people on social media will be 
less valid than a survey of 5000 people chosen at 
random.



Task 1. Items 1-10

6. Even respected journals may publish incorrect
results.

Correct answer - A  - True   -

Obviously, research in a respected journal,
reviewed by other experts, will be better than
something published anonymously online, but
even peer reviews can underestimate aspects like
sample size.



Task 1. Items 1-10

7. The case of Company A and Company B shows
that absolute and relative figures can lead to
different conclusions.

Correct answer - A  - True -

So you can see it’s the focus on either a relative
or absolute figure and choosing the start and end
point for the figures that can be used to twist
data to suit your own ends.



Task 1. Items 1-10

8. Tom Hunter believes that most people are
good at basic maths.

Correct answer - B  - False -

Well, the initial problem is basic maths. However,
people also misunderstand how probability works
as a prediction tool. They don’t understand
variables and the degree to which they’re
dependent.



Task 1. Items 1-10

9. The probability of random events is always
50%.

Correct answer - A  - True -

If you had just thrown a head, or indeed six heads
or ten, the probability of the next throw being a
head is still 50%, not 25% or smaller. That’s
because these are random events out of your
control.



Task 1. Items 1-10

10. TV sales and crime rates are strongly
correlated.

Correct answer - B  - False  -

As an extreme comparison, the fact that TV sales
may increase in line with crime does not prove
that one affects the other!



Task 2. Items 11-15

11. Katherine says the delivery…

Correct answer   -

C) came in the morning.

Katherine: It has, yeah. It came in this
morning, I believe.



Task 2. Items 11-15

12. Katherine says the sales…

Correct answer -

B) grew slightly.

Katherine: Oh, you know. We’re hanging in
there. Sales have actually picked up a bit this
quarter, so that’s good, and we’ve actually
taken on a couple of new people, so can’t
complain, you know.



Task 2. Items 11-15

13. Sam’s child is…

Correct answer -

B) nearly one year old.

Sam: Oh, she’s good. She’s just coming up to
one now and she’s crawling around
everywhere and babbling away to herself all
the time.



Task 2. Items 11-15

14. Mary has been away…

Correct answer -

C) on business.

Sam: She’s OK. She’s been away with work a lot
recently, actually, which has been a bit of a
pain, but hopefully that’ll ease off a bit soon.



Task 2. Items 11-15

15. The holiday in Crete was not…

Correct answer -

C) long.

Sam: Yeah, that’s right, we did. Two weeks in
Crete. Oh, it was lovely. Over far too quickly,
of course, but much needed.



INTEGRATED listening and 

reading 

Максимальное количество 

баллов – 20.

Каждый правильный ответ

оценивается в 1 балл. За

неверный ответ или

отсутствие ответа

выставляется 0 баллов.



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 3. Items 16–25



Task 4. Items 26-40



Task 4. Items 26-40



Task 4. Items 26-40



Task 4. Tasks 26-40 



Task 4. Tasks 26-40 



Task 4. Tasks 26-40 



Task 4. Tasks 26-40 



Task 4. Items 26-40 



Task 4. Items 26–40



Task 4. Items 26-40 



Task 4. Items 26-40 



Task 4. Items 26-40 



Task 4. Items 26-40 



Task 4. Items 26-40 



Task 4. Items 26-40 



Use of English

Максимальное количество баллов – 50.

Каждый правильный ответ в задании 1

оценивается в 2 балла; грамматически

правильный ответ, содержащий

орфографические ошибки, оценивается в 1 балл.

Каждый правильный ответ в заданиях 2-4

оценивается в 1 балл. Орфография не

учитывается.

За неверный ответ или отсутствие ответа

выставляется 0 баллов.



Task 1. Items 1-10

1. The poor harvest led to many families leaving
the island for good.

REASON

The poor harvest was the reason for/behind
many families/families’ leaving the island for
good.



Task 1. Items 1-10 

2. They would never make a decision so quickly
again.

MINDS

Never again would they make up their
minds/make their minds up so quickly.



Task 1. Items 1-10 

3. Jeremy usually plays football on Saturdays.

HABIT

Jeremy is in the habit of playing football on
Saturdays.



Task 1. Items 1-10 

4. Bryan could not explain how the stolen
computer got into his car.

LOSS

Bryan was at a loss to explain how the stolen
computer got into his car.



Task 1. Items 1-10 

5. This film stands a very good chance of winning
an award.

HIGHLY

It is highly likely/probable/possible/predictable
the/this film will win an award.



Task 1. Items 1-10 

6. Davina cannot even make tea and so she
certainly could not bake a cake.

ALONE

Davina cannot even make tea let alone bake a
cake.



Task 1. Items 1-10 

7. Mary only complained because of the slowness
of the service.

NEVER

Had the service not been slow Mary would never
have complained/never would have
complained/would have never complained.



Task 1. Items 1-10

8. The price of this toy has risen over the past
two months.

NOW

This toy costs more now than/now costs more
than/costs more now than it did two months ago.



Task 1. Items 1-10 

9. Cathy did not imagine for one moment that her
best friend was lying to her.

DID

Not for one moment did Cathy imagine her best
friend was lying to her.



Task 1. Items 1-10 

10. Paul was not able to leave the house all day
because of the terrible weather.

IMPOSSIBLE

The terrible weather made it impossible for Paul
to leave the house all day.



Task 2. Items 11–20

11. And there in Act One, behind the garret
window, and again, in Act Four, was a painted
vista of Paris rooftops just like any you could see
through and perhaps still can around the old
quarters of the city.



Task 2. Items 11-20 

12. It had never struck me before that reality and
romance could so poignantly collude with each
other; so that ever afterwards I saw Paris as a
palpable network of «scenes», down to the
subtle lighting of a smoky-blue winter’s morning;
the incarnation of something already imagined.

CORRECT



Task 2. Items 11-20 

13. My mother must have been moved by the
same ambiguous, uncanny reality as me, because
I can never recall her, only days after our arrival,
saying in a rapturous, if half-startled, voice,

14. “Look darling, this is Paris, darling,” (I knew it
was Paris, we were in Paris, we were strolling
down the Champs Elysees), “isn’t it divine?”

CORRECT



Task 2. Items 11-20 

15. And that word, through the refining filter of
Paris, is all I need to conjure up my mother: as
she licked from her lips the residue of some
oozing cream cake; as if she held up to herself,
like some flimsy, snatched-up dancing partner, a
newly bought frock: “Isn’t it just divine!”



Task 2. Items 11-20 

16. I cannot summon my father so easily. Perhaps
because he was always a distant and sombre
figure, outshone, first to his much delight, then to
his consternation, by my mother’s heedless
brightness.



Task 2. Items 11-20 

17. Yet I remember him once attempting to draw
out near or so I think was his intention. He was
standing by the fire, waiting for my mother
before they left for another of his official
functions.



Task 2. Items 11-20 

18. “The thing is”, he suddenly said, slowly, with
an air of weighed wisdom and of speaking aloud
some uncontainable thought, “when you are out
on an adventure, you want to be at home by the
fire, and when you are at home by the fire, you
want to be out on an adventure”.

CORRECT



Task 2. Items 11-20 

19. He seemed have taken aback, himself, at his
own words, as if he had not known they were
stored inside him. He looked self-consciously at
his watch: “Whatever can your mother be up to?”



Task 2. Items 11-20 

20. Perhaps it was on that same evening that I
asked him, point-blank, what we were about
doing, and what he was doing, here in Paris. And
he replied with a sort of jocular self-effacing
gravity, “Oh — sorting out the world. You know,
that sort of thing”.



Task 3. Items 21–30

21. Almost every school keeps a record of each
student’s achievements in order to have some
basis for measuring his or her progress.



Task 3. Items 21-30 

22. The record supplies information for reports to
parents.



Task 3. Items 21-30 

23. Universities and colleges often use this
information to help determine whether they
should admit a student.



Task 3. Items 21-30 

24-25. For a long time, the most common
method of recording progress was by percentage.



Task 3. Items 21-30 

26. The minimum grade for a pass is usually 70
per cent, and for average work, about 80 per
cent .



27. Today, the letters A, B, C, D, E, and
occasionally F, are much more frequently used.

Task 3. Items 21-30 



28. A stands for exceptional progress, while E
and F mean failure.

Task 3. Items 21-30



29. A few schools use no marking system at all.
Instead, each teacher writes a detailed letter to
the parents.

Task 3. Items 21-30 



30. Such letters report students“ progress,
attitude, activities, and social adjustment.

Task 3. Items 21-30 



31. The Chrysler Building

Correct answer:

J – built between 1928 and 1930, it was
financed by a multimillionaire car maker. It is
319 m high including the spire, which pierces
the sky. It is in Art Deco style and the spire looks
like a radiator grille.

Task 4. Items 31–40



32. Grand Central Terminal

Correct answer:

G – this building is a commuter rail station at 42nd
Street and Park Avenue in Midtown Manhattan in New
York City, United States. It is the largest train station in
the world by number of platforms: 44, with 67 tracks
along them. They are on two levels, both below
ground, with 41 tracks on the upper level and 26 on
the lower, though the total number of tracks along
platforms and in rail yards exceeds 100.

Task 4. Items 31-40 



33. The Sydney Opera House

Correct answer:

L – a UNESCO World Heritage Site since 2007, it is one
of the most famous buildings on the planet. Designed
in 1957, pre-cast concrete «shells» form the roof, while
the walls are clad in pink granite. The building covers
4.4 acres in total, and is supported on 588 concrete
piers sunk 25 m below sea level. It’s a multi-venue
performing arts centre.

Task 4. Items 31-40 



34. The Capitol

Correct answer:

K – the building is home to the state’s legislative
branch. The construction of the original building was
finalized in 1800. However, it has gone through
modifications which includes the addition of the
enormous dome and enlargement of chambers. It has
a plain exterior. It is famous for its neoclassical style
and large white dome. The building contains about 600
rooms.

Task 4. Items 31-40 



35. The Empire State Building

Correct answer:

C – the American president H. Hoover opened
the building in 1930 by symbolically switching
on its lights from the White House. Observation
decks on the 85th and 86th floors allow a
superb view of the city. King Kong fought his last
battle for survival from the top of this building.

Task 4. Items 31-40 



36. The Guggenheim

Correct answer:

D – the building houses an art museum and is located
at 1071 Fifth Avenue on the corner of East 89th Street
in the Upper East Side neighborhood of Manhattan,
New York City. It is the permanent home of a
continuously expanding collection of Impressionist,
Post-Impressionist, early modern and contemporary
art and also features special exhibitions throughout
the year.

Task 4. Items 31-40 



37. Tate Modern

Correct answer:

A – this massive hunk of brick in London isn’t just a
building, it’s a mission: the idea behind it was to take a
gorgeous, disused old power station and turn it into
something that would make people care about modern
art. And it worked! It’s not just an incredible bit of
architecture, filled with stunning spaces and beautiful
art, it’s a tool for converting non-believers, making art-
lovers out of everyone who visits.

Task 4. Items 31-40 



38. The Walkie-Talkie

Correct answer:

E – the skyscraper at 20 Fenchurch Street has such a
nickname due to its unusual shape resembling an old-
school portable radio transceiver. The building was
designed by Uruguayan architect, Rafael Vinoly, and
was completed in 2013. The building has frequently
been called the worst building in the UK despite the
fact that it cost over 200 million pounds in
construction.

Task 4. Items 31-40 



39. Westminster Abbey

Correct answer:

O – this building started as a Benedictine monastery
established during the period of 960-980. Between 1042
and 1052 King Edward the Confessor began to rebuild and
develop it as a royal burial church. Although it was
consecrated in 1065 shortly before Edward’s death, it was
not completed until the 1090s. It was the first church in
England to be built in the shape of the cross. It is one of the
United Kingdom’s most notable religious buildings and the
traditional place of coronation.

Task 4. Items 31-40 



40. The Willis Tower (the Sears Tower)

Correct answer:

P – standing at 527 meters and 110 stories high,
it dominates the city which saw the first
skyscrapers. From 1973 to 1998 it was the
tallest building in the world. You can enjoy a
fantastic view of Lake Michigan from its
Skydeck.

Task 4. Items 31-40 


